
 

 

WINCH MOUNT INSTALLATION INSTRUCTIONS 

       KAWASAKI MULE FX / FXT / FXR / DX 

                       

 

 

 

 

 

 

There are to ways to install winch mount behind the front bumper. Between the main to upright tubes there is a panel 

That can be un-screwed to gain access. NOTE: these screws are very hard to remove without stripping them out. 

 

Second way is to just to remove the front bumper completely. 

 

Attach the winch mount to the frame as shown in the picture using the 4 – 3/8 x 1-1/4 bolt, washers and nuts the came 

with the kit in the bolt bag. 

 

Attach the winch to the mount with hardware provided with the winch along with the fairlead. Cabe should come off the 

bottom of the spool. 

 

Wire the winch according to the winch manufactures instructions. 

 

When completed re-attach the bumper plate or bumper. 

 

 

 

 

 

QUESTIONS OR COMMENTS CALL 320-964-1616 Monday thru Thursday 7:00 to 4:30 CST                                   INST1636 

ITEM PART# QTY. DESCRIPTION

1 1636-1 1 Main Winch Mount Plate

2 HDW2102 4 3/8 x 1-1/4 Hex Bolt

3 HDW9001 4 3/8 Flat Washer

4 HDW7061 4 3/8 Nylock Nut


